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S-812XXSG

T0-92" SOT-89-3"2 S0T-23-5"

1.1 V& 2.4% S-81211SGY-X $-81211SGUP-DQA-X S-8121156-QA-X
1.2 V& 2.4% $-81212SGY-X $-8121256UP-DQC-X

1.3 V& 2.4% S-812135GY-X $-81213SGUP-DQG-X

1.4 V& 2.4% $-81214SGUP-DQN-X

1.5 V& 2.4% S-8121556Y-X $-812155GUP-DQK-X S-8121556-QK-X
1.6 V& 2.4% S-81216SGY-X $-81216SGUP-DQP-X

1.7 V& 2.4% S-81217SGY-X $-81217SGUP-DQQ-X S-8121756-00-X
1.8 V& 2.4% 5-81218SGY-X $-81218SGUP-DQR-X $-8121856-QR-X
1.9 V& 2.4% S-812195GY-X $-81219SGUP-DQT-X

2V 2.4% $-81220SGY-X $-81220SGUP-DQS-X $-8122056-Q5-X
2.1V 2.4% S-81221SGY-X $-81221SGUP-DQU-X $-8122156<QU-X
2.2 V£ 2.4% $-8122256Y-X $-812225GUP-DQV-X $-8122256-QV-X
2.3 V£ 2.4% S-812235GY-X $-812235GUP-DQW-X S-8122356-QW-X
2.4 V£ 2.4% $-81224SGY-X $-81224SGUP-DQX-X $-8122456-QX-X
2.5 V£ 2.4% S-8122556Y-X $-812255GUP-DQH-X $8122556-QH-X
2.6 V£ 2.4% 5-812265G6Y-X $-81226S6UP-DQY-X 5-8122656-QY-X
2.7 V£ 2.0% $-81227SGUP-DQZ-X $-8122756-QZ-X
2.8 V£ 2.0% $-8122856UP-DQ0-X $-8122856-00-X
2.9 V£ 2.0% $-812295GUP-DQ2-X $-8122956-02-X

3V 2.0% $-81230SGY-X $-81230SGUP-DQB-X $-81230SG-QB-X
3.1V 2.0% $-8123156-03-X
3.2 V£ 2.0% $-8123256UP-DQ4-X $-8123256-04-X
3.3 V£ 2.0% S-812335GY-X S-81233SGUP-DQF-X S-8123356-QF-X
3.4 V£ 2.0% $-8123456-06-X
3.5 V£ 2.0% S-8123556Y-X $-812355GUP-DQI -X 5-8123556-Q1-X
3.6 V£ 2.0% $-81236S6UP-DQ7-X

3.7 V£ 2.0% S-81237SGY-X S-81237SGUP-DQE-X S-8123756-QE-X
3.8 V£ 2.0% $-81238S6UP-DQ8-X $-8123856-08-X
3.9 V£ 2.0%

4 V£ 2.0% S-81240SGY-X $-81240SGUP-DQJ-X $-8124056-0J-X
4.1 V£ 2.0%

4.2 V£ 2.0% $-81242SGUP-DIB-X $-8124256- 1B-X
4.3 V£ 2.0% S-812435GY-X $-81243SGUP-DIC-X

4.4 V£ 2.0%

4.5 V£ 2.0% S-8124556Y-X $-8124556UP-DQ5-X S-8124556-05-X
4.6 V£ 2.0% S-8124656Y-X $-81246SGUP-DQM-X S$-812465G-QM-X
4.7 V£ 2.0% S-81247SGUP-DIE-X S-8124756- 1E-X
4.8 V£ 2.0% 5-8124856- IF-X
4.9 V£ 2.0%

5V 2.0% 5-81250SGY-X $-81250SGUP-DQD-X $-81250S6-QD-X
5.1 V£ 2.0%

5.2 V£ 2.0% 5-8125256Y-X $-8125256UP-DQL-X $-8125256-QL-X
5.3 V£ 2.0% $-81253SGUP-D1J-X S-8125356-1J-X
5.4 V£ 2.0% $-81254SGUP-DIK-X

5.5 V£ 2.0% $-812555GUP-DIL-X

5.6 V£ 2.0% S5-8125656Y-X S-81256SGUP-DIM-X

1 T0-92 X
B :
T, Z:
"2 soT X (S0T-23-5 )

S :
T: (ic TL T2 2 )




S-812XXSG

1.

2.

S-81211SGY-X,

S-81212SGY-X,

2
( : Ta=25 )
Vor 2.6V 12 v
VIN
Vor 2.7V 18
Vour Vyt0.3 Vs 0.3
lour 100 mA
T0-92 400
Py S0T-89-3 500 mw
S0T-23-5 150
Topr -40 +85
ot -40 +125
IC ,
IC
S-81211SGUP-DQA-X, S-81211SG-QA-X (1.1 V )
3
( I Ta=25 )
Min. Typ.- Max .
Vour Vi =1.5 V, gy =0.5 mA 1.073 | 1.100 | 1.127 v 1
Vair lo;r=0.5 mA — 0.05 0.2 v 1
1 Vorl |V =15V 10V — 10 50 mv 1
lo;r=0.5 mA
2 Vo2 |V =15V 10V — 10 77 mv 1
lo,=10 P A
Vour3 | Viy =15 V — 10 100 mv 1
loir=10 p A 0.5 mA
Ig V,, 1.5V, — 1.2 2.5 g A 2
Viy — — 10 v —
Vour | V1.5V, lgr = 0.5 mA — |+0.138] — | mw —
Ta Ta=-40 85
S-81213SGUP-DQC-X (1.2 V )
4
( I Ta=25 )
Min. Typ- Max .
Vour Vi =3.2 V, gy =0.5 mA 1.171 | 1.200 | 1.229 v 1
Vair lo;r=0.5 mA — 0.04 0.18 v 1
1 Vol |V =2.2V 10V — 10 50 mv 1
lo,r=0.5 mA
2 Vo2 |V =2.2V 10V — 10 84 mv 1
lo,=10 P A
Vour3 | Viy =32V — 10 100 mv 1
loir=10 p A 10 mA
Ig V,, =3.3V, — 1.2 2.5 g A 2
Viy — — 10 v —
Vour | V3.2 V, lgr = 0.5 mA — |+0.150] — | mw —
Ta Ta=-40 85




S-812XXSG

3. S-81213SGY-X,

S-81213SGUP-DQG-X (1.3 V

5. S-81215SGY-X,

5
( D Ta=25 )
Min. Typ.- Max .
Vour Vin =3.3 V, g =0.5 mA 1.268 | 1.300 | 1.332 v 1
Viir l3;;=0.5 mA — 0.02 0.14 v 1
1 Vorl |V =2.3V 10V — 10 50 mv 1
l5;;=0.5 mA
2 Vour2 | Vi =2.3 V 10V — 10 91 mv 1
lo,=10 p A
Vour3 | Viy =3.3 V — 10 100 mv 1
lo,r=10 p A 10 mA
Ig V,, =3.3V, — 1.2 2.5 g A 2
Vin — — 10 v —
Vour | V3.3V, lgr = 0.5 mA — |+0.163] — | mw —
Ta Ta=-40 85
4. S-81214SGUP-DQN-X (1.4 V )
6
( : Ta=25 )
Min. Typ- Max .
Vour Vin 3.4V, 1o =0.5 mA 1.366 | 1.400 | 1.434 v 1
Vair 1,,r=0.5 mA — 0.04 | 0.23 v 1
1 Vourl | Viy =2.4 V 10V — 7 36 mv 1
15,r=0.5 mA
2 Vour2 | Viy =2.4 V 10V —+ 7 98 mv 1
lor=1 P A
Vour3 | Viy =3.4 V — 80 120 mv 1
lor=1 p A 10 mA
Igs Viy =3.4 V, — 1.2 2.5 pA 2
Vi — — 10 v —
Vour [ V=34V, g = 0.5 mA — | +£0.175| — mv/ —
Ta Ta=-40 85
S-81215SGUP-DQK-X, S-81215SG-QK-X (1.5 V )
7
( D Ta=25 )
Min. Typ.- Max .
Voor |V =8-5V, gy =0.5mA | 1.464 | 1.500 | 1.536 | V 1
Viir l3;;=0.5 mA — 0.03 0.18 v 1
1 Vol |V =25V 10V — 7 39 mv 1
l5;;=0.5 mA
2 Vo2 |V =25V 10V — 7 105 mv 1
lo=1 W A
Vour3 | Viy =3.5 V — 80 120 mv 1
lor=1 p A 10 mA
Ig V,, 3.5V, — 1.2 2.5 g A 2
Vin — — 10 v —
Vour | V3.5V, lgr = 0.5 mA — |+o0.188] — | mw —
Ta Ta=-40 85




S-812XXSG

6.

7.

8.

S-81216SGUP-DQP-X,

S-81216SG-X (1.6 V

8
( D Ta=25 )
Min. Typ.- Max .
Vour Vyy =3.6 V, gy =0.5 mA 1.561 | 1.600 | 1.639 v 1
Viir l5;;=0.5 mA — 0.02 0.14 v 1
1 Vol |V =2.6V 10V — 7 41 mv 1
lor=1 mA
2 Vo2 |V =2.6V 10V — 7 112 mv 1
loy=1 W A
Vour3 | Viy =3.6 V — 80 120 mv 1
lor=1 p A 10 mA
Ig V,, =6.3 V, — 1.2 2.5 g A 2
Vin — — 10 v —
Vour [V,=6.3 V, g = 10 mA — |+0.200f — mv/ —
Ta Ta=-40 85
§-81217SG-QQ-X (1.7 V )
9
( D Ta=25 )
Min. Typ- Max .
Vour Vin 3.7V, 1oy =10 mA 1.6597 1.700 | 1.741 v 1
Vair 1,,=10 mA A 0.77 | 1.63 v 1
1 Vourl | Viy =2.7 V 10V — 8 43 mv 1
loyr=1 mA
2 Vour2 | Viy =2.7 V 10V — 8 119 mv 1
lor=1 P A
Vour3 | Viy =3.7 V — 80 120 mv 1
lor=1 p A 10 mA
Igs Viw =3.7 V, — 1.2 2.5 pA 2
Vi — — 10 v —
Vour [ Vp=3.7 V, gy = 10 mA — |+£0.213| — mv/ —
Ta Ta=-40 85
S-81218SG-QR-X (1.8 V )
10
( D Ta=25 )
Min. Typ.- Max .
Vouf Vi 3.8V, gy =10 mA 1.756 | 1.800 | 1.843 v 1
Viir lo;r=10 mA — 0.72 1.55 v 1
1 Vorl |V =2.8V 10V — 8 45 mv 1
loir=1 mA
2 Vor2 | Viy =2.8 V 10V — 8 126 mv 1
loy=1 W A
Vour3 | Viy =3.8 V — 80 120 mv 1
lor=1 p A 10 mA
Ig V,, =3.8 V, — 1.2 2.5 g A 2
Vin — — 10 v —
Vour | Vy=3.8 V, g = 10 mA — |+0.225| — | mw —
Ta Ta=-40 85




S-812XXSG

9. S-81219SGUP-DQT-X, S-81219SGY-X (1.9 V

10. S-81220SGY-X,

11
( D Ta=25 )
Min. Typ.- Max .
Vour Vi =3.9 V, gy =10 mA 1.854 | 1.900 | 1.946 v 1
Viis lor=10 mA — 0.67 1.47 \ 1
1 Vorl |V =29V 10V — 8 47 mv 1
lor=1 mA
2 Vour2 | Vi =2.9 V 0V — 8 133 mv 1
loy=1 W A
Vour3 | Vi =39 V — 80 120 mv 1
lor=1 p A 10 mA
Ig V,, =6.3 V, — 1.2 2.5 g A 2
Vi — — 10 \ —
Vour [V,=6.3 V, g = 10 mA — |+0.238| — mv/ —
Ta Ta=-40 85
S-81220SGUP-DQS-X, S-81220SG-QS-X (2.0 V )
12
( D Ta=25 )
Min. Typ- Max .
Vour Vin =40V, Iy =10 mA 1.952 | 2.000" | 2.048 \ 1
Vair 1,,=10 mA — 0.63 | 1.39 v 1
1 Vourl |V, =3.0 V 0V — 8 48 mv 1
loyr=1 mA
2 Vour2 | V) =3.0 V 0V — 8 140 mv 1
lor=l P A
Vour3 |V =4.0 V — 80 120 mv 1
lor=1 p A 10 mA
Iss Viy =4.0 V, — 1.2 2.5 g A 2
Vi — — 10 v —
Vour [V=4.0V, g = 10 mA — |+ 0.250| — mv/ —
Ta Ta=-40 85
11. S-81221SGUP-DQU-X (2.1 V )
13
( : Ta=25 )
Min. Typ.- Max .
Vour Vi 24.1V, gy =10 mA 2.049 | 2.100 | 2.151 v 1
Viis l¢r=10 mA — 0.59 1.32 \ 1
1 Vorl [V =3.1V 10V — 9 50 mv 1
lor=1 mA
2 Vo2 |V =3.1V 10V — 9 147 mv 1
loy=1 W A
Vour3 | Viy =4.1 V — 80 120 mv 1
lor=1 p A 10 mA
Ig Vyy =4.1V, — 1.2 2.5 g A 2
Vi — — 10 \ —
Vour | V4.1V, 1y = 10 mA — |+0.263] — | mw —
Ta Ta=-40 85




S-812XXSG

12. S-812225GY-X,

13. S-81223SGY-X,

14. S-81224S5GY-X,

S$-81222SGUP-DQV-X, S-81222SG-QV-X (2.2 V )
14
( D Ta=25 )
Min. Typ.- Max .
Vour Vi =4.2 V, gy =10 mA 2.147 | 2.200 | 2.253 v 1
Viis lor=10 mA — 0.56 1.26 \ 1
1 Vol |V =3.2V 10V — 9 52 mv 1
lor=1 mA
2 Vo2 |V =3.2V 10V — 9 154 mv 1
loy=1 W A
Vour3 | Viy =4.2 V — 80 120 mv 1
lor=1 p A 10 mA
Ig Vyy =4.2 V, — 1.2 2.5 g A 2
Vi — — 10 v —
Vour | Vy=6.3 V, lgr = 10 mA — |+0.2715| — | mw/ —
Ta Ta=-40 85
S$-81223SG-QW-X (2.3 V
15
( D Ta=25 )
Min. Typ. Max .
Vour Vin =43V, g =10 mA 2.244 |/2.300 | 2.356 \ 1
Vi 1,,=10 mA — 0.53 | 1.20 v 1
1 Vourl | V) =3.3 V 0V — 9 54 mv 1
loyr=1 mA
2 Vour2 |V =33 V 0V — 9 161 mv 1
lor=1 P A
Vour3 |V =43 V — 80 120 mv 1
lor=1 p A 10 mA
Iss Viy =4.3 V, — 1.2 2.5 pA 2
Vi — — 10 v —
Vour [V=4.3V, lg/= 10 mA — |+0.288| — mv/ —
Ta Ta=-40 85
S-81224SGUP-DQX-X, /S-81224SG-QX-X (2.4 V )
16
( : Ta=25 )
Min. Typ.- Max .
Vour Vi 4.4V, gy =10 mA 2.342 | 2.400 | 2.458 v 1
Vit lor=10 mA — 0.49 1.15 \ 1
1 Vol |V =3.4V 10V — 10 55 mv 1
lor=1 mA
2 Vo2 |V =3.4V 10V — 10 168 mv 1
loy=1 W A
Vour3 | Viy =4.4 V — 80 120 mv 1
lor=1 p A 10 mA
Ig V,, =4.4V, — 1.2 2.5 g A 2
Vi — — 10 \ —
Vour | V4.4 V, lgr = 10 mA — |+0.300] — | mw —
Ta Ta=-40 85




S-812XXSG

15. S-81225S5GY-X,

16. S-81226SGY-X,

S-81225SGUP-DQH-X, S-81225SG-QH-X (2.5 V )
17
( I Ta=25 )
Min. Typ.- Max .
Vour Vi =4.5V, gy =10 mA 2.440 | 2.500 | 2.560 v 1
Viis l5;7=10 mA — 0.59 1.32 % 1
1 Vorl |V =35V 10V — 10 57 mv 1
loir=1 mA
2 Vo2 |V =35V 10V — 10 175 mv 1
loy=1 W A
Vour3 | Viy =4.5 V — 80 120 mv 1
lor=1 p A 10 mA
Ig V,, 4.5V, — 1.2 2.5 g A 2
Vin — — 10 % —
Vour | V4.5V, lgr = 10 mA — |+0.313] — | mw —
Ta Ta=-40 85
S-81226SGUP-DQY-X, S-81226SG-QY-X (2.6 V )
18
( : Ta=25 )
Min. Typ.- Max .
Vour Vin =4.6 V, gy =10 mA 2.537 | 2.600 | 2.663 % 1
Viis l;7=10 mA — 0.55 1.26 % 1
1 Vorl |V =36V 10V — 10 58 mv 1
loir=1 mA
2 Vo2 |V =3.6V 10V A 10 182 mv 1
loy=1 W A
Vour3 | Viy =4.6 V — 80 120 mv 1
lor=1 p A 10 mA
Ig Vyy =4.2 V, — 1.2 2.5 g A 2
Vin — — 10 % —
Vour | V4.6 V, 1o = 10 mA — |+0.325| — | mw —
Ta Ta=-40 85
17. S-81227SGUP-DQZ-X (2.7 V )
19
( I Ta=25 )
Min. Typ.- Max .
Vour Vi =4.7V, gy =10 mA 2.646 | 2.700 | 2.754 v 1
Viis l;7=10 mA — 0.52 1.20 % 1
1 Vol |V =3.7V 16V — 36 72 mv 1
loir=1 mA
2 Vo2 |V =3.7V 16V — 36 189 mv 1
loy=1 W A
Vour3 | Viy =4.7 V — 80 120 mv 1
lor=1 p A 20 mA
Ig Vyy 4.7V, — 1.2 2.5 g A 2
Vin — — 16 % —
Vour | V4.7V, lgr = 10 mA — |+0.338| — | mw —
Ta Ta=-40 85




S-812XXSG

18. S-81228SGUP-DQO-X,

19. S-81229SGUP-DQ2-X,

20. S-81230SGY-X,

$-8122856-Q0-X (2.8 V )
20
( D Ta=25 )
Min. Typ.- Max .
Vour Vi 4.6V, gy =10 mA 2.744 | 2.800 | 2.856 v 1
Viis lor=10 mA — 0.49 1.14 \ 1
1 Vorl |V =3.8V 16V — 37 111 mv 1
lor=1 mA
2 Vo2 |V =3.8V 16V — 37 196 mv 1
loy=1 W A
Vour3 | Viy =4.8 V — 80 120 mv 1
lor=1 p A 20 mA
Ig Vyy =4.2 V, — 1.2 2.5 g A 2
Vi — — 16 v —
Vour | Vy=4.8 V, g = 10 mA — |+0.350| — | mvw/ —
Ta Ta=-40 85
§-81229SG-Q2-X (2.9 V )
21
( D Ta=25 )
Min. Typ. Max .
Vour Vin =49V, Iy =10 mA 2.842 |/2.900 | 2.958 \ 1
Vi 1,,=10 mA — 0.46 | 1.09 v 1
1 Vourl | V) =39 V 16V — 38 114 mv 1
loyr=1 mA
2 Vour2 | V) =39 V 16V — 38 203 mv 1
lor=1 P A
Vour3 | Vi =49 V — 80 120 mv 1
lor=1 p A 20 mA
Iss Vi =4.2 V, — 1.2 2.5 pA 2
Vi — — 16 v —
Vour [V=4.9 V, lg/= 10 mA — |+0.363| — mv/ —
Ta Ta=-40 85
S$-81230SGUP-DQB-X, /S-81230SG-QB-X (3.0 V )
20
( : Ta=25 )
Min. Typ.- Max .
Vour Vi 5.0 V, Iy =10 mA 2.940 | 3.000 | 3.060 \ 1
Vit lor=10 mA — 0.44 1.04 \ 1
1 Vol |V 4.0V 16V — 39 78 mv 1
lor=1 mA
2 Vo2 |V 4.0V 16V — 39 210 mv 1
loy=1 W A
Vour3 | Vi =5 V — 60 100 mv 1
lor=1 p A 20 mA
Ig V,, 5.0 V, — 1.2 2.5 g A 2
Vi — — 16 \ —
Vour | Vy=5.0 V, g = 10 mA — |+0.375| — | mw —
Ta Ta=-40 85




S-812XXSG

21. S-81231S6-Q3-X (3.1 V )
23
( D Ta=25 )
Min. Typ.- Max .
Vour Vi 5.1V, gy =10 mA 3.038 | 3.100 | 3.162 v 1
Viis lor=10 mA — 0.42 0.99 \ 1
1 Vol |V =4.1V 16V — 40 80 mv 1
lor=1 mA
2 Vo2 |V =4.1V 16V — 40 217 mv 1
loy=1 W A
Vour3 | Viy =5.1 V — 60 100 mv 1
lor=1 p A 20 mA
Ig Vy =5.1V, — 1.2 2.5 g A 2
Vi — — 16 \ —
Vour | V5.1V, lgr = 10 mA — |+0.388 — | mw —
Ta Ta=-40 85
22. S-81232SGUP-DQ4-X, S-81232SG-Q4-X (3.2 V )
24
( D Ta=25 )
Min. Typ. Max .
Vour Vivn =5-2 V, Iy =10 mA 3.136 | 3.200" | 3.264 \ 1
Vair 1,,=10 mA — 0.39 | 0.95 v 1
1 Vourl |V =4.2 V 16V — 41 82 mv 1
loyr=1 mA
2 Vour2 |V =42 V 16V — 41 224 mv 1
lor=1 P A
Vour3 |V =52 V — 60 100 mv 1
lor=1 p A 20 mA
Iss Viy =5.2 V, — 1.2 2.5 g A 2
Vi — — 16 v —
Vour [V=5.2 V, g = 10 mA — |+ 0.400| — mv/ —
Ta Ta=-40 85
23. S$-81233SGY-X, S-81233SGUP-DQF-X, S-81233SG-QF-X (3.3 V )
25
( : Ta=25 )
Min. Typ.- Max .
Vour Vin #5-3 V, Iy =10 mA 3.234 | 3.300 | 3.366 \ 1
Viis l¢r=10 mA — 0.37 0.91 \ 1
1 Vourl |V =4.3V 16V — 42 84 mv 1
lor=1 mA
2 Vo2 |V =4.3V 16V — 42 231 mv 1
loy=1 W A
Vour3 | Viy =5.3 V — 60 100 mv 1
lor=1 p A 20 mA
Ig V,, =5.3 V, — 1.2 2.5 g A 2
Vi — — 16 \ —
Vour | V5.3V, lgr = 10 mA — |+0.413] — | mw —
Ta Ta=-40 85

10




S-812XXSG

24. S-81234S6-Q6-X (3.4 V

25. S-81235SGY-X,

)
26
( I Ta=25 )
Min. Typ.- Max .
Vour Vi 5.4V, gy =10 mA 3.332 | 3.400 | 3.468 v 1
Viis l;7=10 mA — 0.35 0.87 % 1
1 Vol |V =4.4V 16V — 43 86 mv 1
loir=1 mA
2 Vo2 |V =4.4V 16V — 43 238 mv 1
loy=1 W A
Vour3 | Viy =5.4 V — 60 100 mv 1
lor=1 p A 20 mA
Ig Vy, =5.2 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V5.4 V, 1o = 10 mA — |+0.425| — | mw/ —
Ta Ta=-40 85
S$-81235SGUP-DQI-X, S-81235SG-QI-X (3.5 V )
27
( I Ta=25 )
Min. Typ.- Max .
Vour Viy 5.5V, gy =10 mA 3.4307| 3.500 | 3.570 v 1
Viis l;7=10 mA - 0.34 0.84 % 1
1 Vol |V 4.5V 16V — 44 88 mv 1
loir=1 mA
2 Vo2 |V =4.5V 16V — 44 245 mv 1
loy=1 W A
Vour3 | Viy =5.5 V — 60 100 mv 1
lor=1 p A 30 mA
Ig V,, 5.5V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V5.5V, lgr = 10 mA — |+0.438| — | mw —
Ta Ta=-40 85
26. S-81236SGUP-DQ7-X (3.6 V )
28
( : Ta=25 )
Min. Typ. Max .
Vour Viv 5.6 V, I =10 mA 3.528 | 3.600 | 3.672 % 1
Vi 1,,=10 mA — 0.32 | 0.81 v 1
1 Vorl | Vi =4.6 V 16V — 45 90 mv 1
loyr=1 mA
2 Vo2 | Viy =4.6 V 16 Vv — 45 252 mv 1
lor=l P A
Vor3 | Viy =5.6 V — 60 100 mv 1
lor=1 p A 30 mA
Igs Vi =5.6 V, — 1.2 2.5 pA 2
Vi — — 16 v —
Vour [V =5-6 V, g = 10 mA — |+ 0.450| — mv/ —
Ta Ta=-40 85

11



S-812XXSG

27. S-81237SGY-X,

28. S-81238SGUP-DQ8-X,

29. S-81240SGY-X,

S-81237SGUP-DQE-X, S-81237SG-QE-X (3.7 V )
29
( I Ta=25 )
Min. Typ.- Max.
Vour Vi 5.7 V, gy =10 mA 3.626 | 3.700 | 3.774 v 1
Viis l5;7=10 mA — 0.31 0.78 v 1
1 Vorl |V =4.7V 16V — 46 92 mv 1
loir=1 mA
2 Vo2 |V =4.7V 16V — 46 259 mv 1
loy=1 W A
Vour3 | Viy =5.7 V — 60 100 mv 1
lor=1 p A 30 mA
Ig Vyy 5.7 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V5.7V, lgr = 10 mA — |+0.463] — | mw —
Ta Ta=-40 85
$-8123856-08-X (3.8 V )
30
( I Ta=25 )
Min. Typ.- Max.
Vour Vi 5.8 V, gy =10 mA 3.724 | 3.800 | 3.876 v 1
Viis l;7=10 mA — 0.29 0.75 v 1
1 Vorl | Vi =4.8V 16V — 47 93 mv 1
loir=1 mA
2 Vo2 |V =4.8V 16V A 47 266 mv 1
loy=1 W A
Vour3 | Viy =5.8 V — 60 100 mv 1
lor=1 p A 30 mA
Ig V,, =5.8 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V5.8 V, g = 10 mA — |+0.475| — | mw —
Ta Ta=-40 85
S$-81240SGUP-DQJ-X, S-81240SG-QJ-X (4.0 V )
31
( I Ta=25 )
Min. Typ. Max .
Vour Viy 6.0 V, gy =10 mA 3.920 | 4.000 | 4.080 v 1
Vair 1,,=10 mA — 0.27 | 0.70 v 1
1 Vourl | Viy =5.0 V 16V — 48 96 mv 1
loyr=1 mA
2 Vor2 | Viy =5.0 V 16V — 48 280 mv 1
lor=1 P A
Vor3 | Viy =6.0 V — 50 90 mv 1
lor=1 p A 30 mA
Igs Vi =6.0 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour [ V=60 V, g = 10 mA — |+ 0.500| — mv/ —
Ta Ta=-40 85
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S-812XXSG

30. S-81242SG-1B-X (4.2 V

31. S-81243SGY-X,

32. S-81245SGY-X,

)
32
( © Ta=25 )
Min. Typ- Max .
Vour Vi 6.2 V, gy =10 mA 4.116 | 4.200 | 4.284 v 1
Viir lo;r=10 mA — 0.24 0.65 v 1
1 Vorl |V =5.2V 16V — 50 100 mv 1
lor=1 mA
2 Vo2 |V =5.2V 16V — 50 294 mv 1
loy=1 W A
Vour3 | Viy =6.2 V — 50 90 mv 1
lor=1 p A 30 mA
Ig Vyy =6.2 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | Vy=6.2 V, lgr = 10 mA — |+0.525| — | mvw/ —
Ta Ta=-40 85
S-81243SGUP-DIC-X (4.3 V
33
( I Ta=25 )
Min. Typ. Max .
Vour Vin 6.3V, 1oy =10 mA 4.214 |/ 4.300 | 4.386 v 1
Viis lo,r=10 mA — 0.23 0.63 v 1
1 Vourl | Viy =5.3 V 16 V + 51 101 mv 1
loyr=1 mA
2 Vour2 | Viy =5.3 V 16 V — 51 301 mv 1
lor=l P A
Vour3 | Viy =6.3 V — 50 90 mv 1
lor=1 p A 30 mA
Igs Vi =6.3 V, — 1.2 2.5 pA 2
Vi — — 16 v —
Vour [ V=6-3 V, lgp/= 10 mA — | +£0.538) — mv/ —
Ta Ta=-40 85
S$-81245SGUP-DQ5-X, /S-81245SG-Q5-X (4.5 V )
34
( © Ta=25 )
Min. Typ.- Max .
Vour Vi =6.5 V, gy =10 mA 4.410 | 4.500 | 4.590 v 1
Viif lo;r=10 mA — 0.21 0.58 v 1
1 Vorl |V 5.5V 16V — 52 104 mv 1
lor=1 mA
2 Vo2 |V =5.5V 16V — 52 315 mv 1
loy=1 W A
Vour3 | Viy =6.5 V — 50 90 mv 1
lor=1 p A 30 mA
Ig V,, =6.5 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | Vy=6.5 V, lgr = 10 mA — |+0.563] — | mw —
Ta Ta=-40 85

13



S-812XXSG

33. S-81246SGY-X,

34. S-81247SG-1E-X (4.7 V

35. S-81248SG-I1F-X (4.8 V

S-81246SGUP-DQM-X, S-81246SG-QM-X (4.6 V )
35
( © Ta=25 )
Min. Typ.- Max .
Vour Vi 6.6 V, gy =10 mA 4.508 | 4.600 | 4.692 v 1
Viir lo;r=10 mA — 0.20 0.57 v 1
1 Vol |V =5.6 V. 16 V — 53 105 mv 1
lor=1 mA
2 Vo2 |V =5.6V 16V — 53 322 mv 1
loy=1 W A
Vour3 | Viy =6.6 V — 50 90 mv 1
lor=1 p A 30 mA
Ig V,, =6.6 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V=6.6 V, lgr = 10 mA — |+0.575| — | mw —
Ta Ta=-40 85
)
36
( : Ta=25 )
Min. Typ. Max .
Vour Vin 6.7V, 1o =10 mA 4.606 | 4.700" | 4.794 v 1
Vair 1,,=10 mA — 0.19 | 0.55 v 1
1 Vourl | Viy =5.7 V 16 V — 54 107 mv 1
loyr=1 mA
2 Vour2 | Viy =5.7 V 16 V — 54 329 mv 1
lor=l P A
Vour3 | Viy =6.7 V — 50 90 mv 1
lor=1 p A 30 mA
Igs Vi =6.7 V, — 1.2 2.5 pA 2
Vi — — 16 v —
Vour [ V=6.7 V, g = 10 mA — | +0.588 — mv/ —
Ta Ta=-40 85
)
37
( D Ta=25 )
Min. Typ.- Max .
Vour Vi 6.3V, gy =10 mA 4.704 | 4.800 | 4.896 v 1
Viir l,r=10 mA — 0.18 0.53 v 1
1 Vourl |V =5.8V 16 V — 54 108 mv 1
lor=1 mA
2 Vo2 |V =5.8V 16V — 54 336 mv 1
loy=1 W A
Vour3 | Viy =6.8 V — 50 90 mv 1
lor=1 p A 30 mA
Ig V,, =6.8 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour [ V,=6.8 V, o = 10 mA — |+ 0.600| — mv/ —
Ta Ta=-40 85
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S-812XXSG

36. S-81250SGY-X,

37. S-812528GY-X,

S-81250SGUP-DQD-X, S-81250SG-QD-X (5.0 V )
38
( D Ta=25 )
Min. Typ- Max .
Vour Vi =7.0V, gy =10 mA 4.900 | 5.000 | 5.100 v 1
Viir lo;r=10 mA — 0.16 0.50 v 1
1 Vol |V 6.0V 16V — 55 110 mv 1
lor=1 mA
2 Vo2 |V 6.0V 16V — 55 350 mv 1
loy=1 W A
Vour3 | Viy =70V — 40 80 mv 1
lor=1 p A 40 mA
Ig V,, 7.0V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | Vp=7.0 V, g = 10 mA — |+o0.625| — | mvw/ —
Ta Ta=-40 85
S-81252SGUP-DQL-X, S-81252SG-QL-X (5.2 V )
39
( : Ta=25 )
Min. Typ- Max .
Vour Vin =7.2°V, gy =10 mA 5.096 |/5.200 | 5.304 v 1
Vi 1,,=10 mA — 0.15 | 0.47 v 1
1 Vourl | Viy =6.2 V 16 V + 57 113 mv 1
loyr=1 mA
2 Vour2 | Viy =6.2 V 16 V — 57 364 mv 1
lor=l P A
Vour3 | Viy =7.2 V — 40 80 mv 1
lor=1 p A 40 mA
Igs Viw =7.2°V, — 1.2 2.5 pA 2
Vi — — 16 v —
Vour [ V=72V, lgp/= 10 mA — |+£0.650| — mv/ —
Ta Ta=-40 85
38. S-81253SGUP-DIJ-X (5.3 V )
40
( © Ta=25 )
Min. Typ.- Max .
Vour Vi =7.3 V, gy =10 mA 5.194 | 5.300 | 5.406 v 1
Viif lo;r=10 mA — 0.14 0.45 v 1
1 Vol | Vi 6.3V 16V — 57 114 mv 1
lor=1 mA
2 Vo2 |V 6.3V 16V — 57 371 mv 1
loy=1 W A
Vourd3 | Vi =73 V — 40 80 mv 1
lor=1 p A 40 mA
Ig V,, =7.3V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V7.3V, g = 10 mA — |+0.663] — | mw —
Ta Ta=-40 85
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S-812XXSG

39. S-81254SGUP-DIK-X (5.4 V )
41
( I Ta=25 )
Min. Typ.- Max.
Vour Vi =7.4 V, gy =10 mA 5.292 | 5.400 | 5.508 v 1
Viis l5;7=10 mA — 0.13 0.44 v 1
Vol | Vi =6.4V 16V — 58 115 mv 1
loir=1 mA
Vo2 |V =6.4V 16V — 58 378 mv 1
loy=1 W A
Vour3 | Vi =74 V — 40 80 mv 1
lor=1 p A 40 mA
Ig Vyy =7.4V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V7.4V, lgr = 10 mA — |+o0.675| — | mw —
Ta Ta=-40 85
40. S-81255SGUP-DIL-X (5.5 V )
42
( I Ta=25 )
Min. Typ.- Max.
Vour Vg 7.5V, gy =10 mA 5.390 | 5.500" | 5.610 v 1
Viis l;7=10 mA — 0.13 0.43 v 1
Vol |V 6.5V 16V — 58 116 mv 1
loir=1 mA
Vo2 |V 6.5V 16V — 58 385 mv 1
loy=1 W A
Vour3 | Viy =75 V — 40 80 mv 1
lor=1 p A 40 mA
Ig V,, 7.5V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V7.5V, Do = 10 1A — |+o0.688] — | mw —
Ta Ta=-40 85 C
41. S-81256SGUP-DIM-X (5.6 V )
43
( D Ta=25 )
Min. Typ.- Max.
Vour Vi 27.6 V, gy =10 mA 5.488 | 5.600 | 5.712 v 1
Viis l4,;=10 mA — 0.12 0.42 v 1
Vol AV =6.6 V16V — 59 117 mv 1
loir=1 mA
Vo2 | Vi =6.6 V 16V — 59 392 mv 1
loy=1 W A
Vour3 | Viy =76 V — 40 80 mv 1
lor=1 p A 40 mA
Ig V,, =7.6 V, — 1.2 2.5 g A 2
Vin — — 16 v —
Vour | V7.6 V, 1o = 10 mA — | x07 | — | mw —
Ta Ta=-40 85 C

16




S-812XXSG

1 2
v,
Y | s-g1oxxse | 0 S-812XXSG _OOUT
i GND A GND
7T ONNS
N\
3
(VOUT)
( ) (
+ 2.4%)
1, 2(A Vorl, A Vyr2)
(A Voir3)
(Vdif)
(VOUT) (Vdif) (VOUT+Vdif) VIN VOUT 98%
] Vdif IOUT

+ 2.0%

Vdif

17



S-812XXSG

u
1.
4 S-812XXSG
, R Re
’ VREF
2.
2.1
S-812XXSG
2.2 ( )
5 s
2.3
S-812XXSG . 6
Pch MOS
IOUT: KP{Z(VGS_VTP) (VIN_VOUT)_(VIN_VOUT)2 }
*KP : .
Vip -
KP s
81250SG )
’ ’ VIN_VOUT
’ VIN VOUT
’ VOUT

18

0.8 V typ.

| out ’

160 mv  typ. (S-

V0.3 V

O Vi

O Vour

vy

Ra

AA

vy

Re

AA

VREF

GND

AAA
vV

GND

~ali-AAA



S-812XXSG

Vour , (-40 485 ) ,
Ax (= 0.1) mv/ typ.
VREF
Veer » 0.7 Vmin., 0.8V typ., 0.9V max.
S-812XXSG s s ,
7 . 6.0V — XXV
44 8
1ov
6.0V

7
Amp.
v v,
T S-812XXS6 —=
+
v
P.G s C.
777
8
44
IOUT
C,
VIN*
Ta —
* VIN
’ VOUT (IOUT) ’ (CL) ’ ( VIN) ’

19



S-812XXSG

1. Toyr

20

m

)

o

T T T
C=10u F, Ta=25
/ A
/’ i
0 5 10 15 20 25 30
losr (MA)
6V
V=2V 6V
C=10u F
Ta=25
" 1o,r=10mA
//
4
0 1 2 3 4 5

2.C

m °

)

lo;r=10mA
Ta=25

10

20 30 40

C (WP

50

I 4;r=10mA
C.=10p F

-40

-30

-10 10 30 50 70

Ta ( )

90



S-812XXSG

S-812XXSG
9 1y A« XXmA
45 10
1y A
10mA
9
v v
2 5-812XXSG —=
T +
10
45
IOUT
C,
VIN
Ta — —
VOUT (VIN) (CL) ( I OUT)

21



S-812XXSG

1. Viy

3.

22

)

I out
1 out

=10mA

)

T
c,=10p F

Ta=25
5

10mA — 1p A

.2

o

10 12 14 16

Vi (V)

1y A
I ouT

T
C.=10p F
Ta=25

V=7V

0 5 10 15 20 25 30

losr (MA)

2.0

m

)

Ta ( )

.5 T
V=7V

\ Ta=25
.4 \
3 L Y \

« N
\ 3 \\
3 \\
.2 'S
Y - .
.1
.0
0 10 20 30 40 50
C. (uF)
.5 T T T
\ V=7V C=10p F
4 \\\\\\\\
N

.3
.2
.1
-40 -20 0 20 40 60 80 100



S-812XXSG

S-812XXSG 1
Vi S-812XXSG Vour
2 3
1
C, G,
O 0
Common Common
777
11
12 Trl
Y Vet [ s-s12xusc [Vor | Vo
R
l GND
Comm@
12
13 Rs PNP
S Vi RS Tr1
Trl N /
T Vin Vour
MA—e S-812XXSG | Y
l GND
Commg#
13
14 15
Vi Vyy | 5-812XXSG | Vo Vour
11
R 1
VOUT=VXX(1+—RL)+I55R2@xx(1+ TZ) GND =R,
R1 1 T VXX
S-812XXSG IC | >—o
SS :ERZ
e "3
777"
1c () (0i) 14
IC GND Di
Vin v, | S-812XXSG |y Vour
Di IC R N iom x
o GND =R
T Iss ) T
L/
’* Di
777

15

23



S-812XXSG

3.
S-812XXS6 Vi v, | S-812xxs6 |y,
4
1 Th. L
GND :>RA
L ole] "
_ Vi GND R
loyr = + g O
Ra
16
4.
S-812XXS6 o1
VICN> VIN 3_81230 VOUT VOUT]'
17 S-81230SG S-81250SG 5V 48V 2 SG iy
R ICl 1C2 GND T v
_ Y/ out
1c2 Ic1 Vi 5831(5250f —o—0
5V
= G\D =R
oo | |
O—e . 2 )
17
[ |
Ic Ic
S-812XXS6
Vor 2.6V 10 y A
vy, 18
VI[V]
A
PR SN
»f [Hz]
Vee 0.5V
f  1000Hz
18
Ic

—® ouT

T VR P

GND VOUT

19

24



S-812XXSG

PKG -
(1) T0-92 (2) SOT-89-3
600 600
400 400
N
Py \ Py
N
(m) 200 \\ (mw) 200
N
0 0
0 50 100 150 0 50 100 150
Ta () Ta (/)
(3) S0T-23-5

400

300
p, 200
(miv)

100 \\\

—
~
0

0 25 50 75 100 125 150
Ta ( )
20



S-812XXSG

1.1 S-81211SG

1
1.2f Ta=25

1
T T
1.1F low=0.5 mA
\
1.0
Vour y \ / N loyr=3 mA
™M 4 /AN, ||
. [/ 1 /1N losr=1 MA
0.8 //
L/
0.7 /
0.8 1.0 1.2 1.4 1.6 1.8
Viw (V)
1.3 S-81220SG
1
2.2F Ta=25
1 1
» ok 14,7=0.5 mA
Y/
/W
Vour 1.8 /, Toyr=3 mA
W ol AL |
/. losr=1 mA
v/
1.4 4
/|
1.2
1.5 1.8 2.1 2.4 2.7 3.0
Vie W)
1.5 S-81230SG
1
3.2 Ta=25
1
I I
3.0 o=l mA
AV y.
2.8 L r/
Vour °° ) /| S
W 2.6 1o;r=20 mA —
4 —
2.4 // X 1gr=10 mA
” i
, L1 -
2.5 2.8 3.1 3.4 3.7 4.0
Vie W)
1.7 S-81240SG
1
4.2 Ta=25
1
T T
4.0F |OU{:1 mA ] /;—?
N AN V4 7
Vor =" /] //\
()
3.6, /‘ 4 IIOUT:Z(; mA —
3.4 / lo;r=10 mA
1 1 1
4
- y 1
3.5 3.8 4.1 4.4 4.7 5.0
Vin(V)

26

1.2 S-81215SG

1
2.0 Ta=25

1.8
10;r=0.5 mA
1.6 1 A\
Vour — 1=l mAI
R I Nz
- l//'
1o XA loyr=3 mA ]
AT |
X T A
1.0 1.2 1.4 1.6 1.8 2.0
Viy (V)
1.4 $-81225S6G
| |
2.7F Ta=25
1 1
5 5k lo;i=0.5 mA
) p,
Vour 2.3 7 loyr=3 mA
() 21 27 |
' / losr=1 MA
1.9/
L1506 2.3 2.6 29 3.2 3.5
Vig (V)
1.6 $-81235S6G
| |
4.0F Ta=25
3.8
v 3.6 lo;r=10 mA
out E 1=l mA
v, LR A N =T T
: \|_/ /
L XTI T F
) / 15,7=20 T
‘/ =20 mA
3-0 1 1 1
3.0 3.3 3.6 39 4.2 45
Vin (V)
1.8 S-81245SG
| |
5.0F Ta=25
4.8
1oy=10 mA
v 4.6 IOUT\=lmA ‘\ }
ouT
Vv
m,, \
4 4
1 2—4A4—A A0
A | | |
o 11
40 43 46 49 52 55

V(M)



S-812XXSG

1.9 S-81250SG

1
5.2 Ta=25
|
T T

5.0 lor=1 mA
\ . /1

ssl N TV T A
o LA LN
W 4.6 // // /,\ 1o;;=20 mMA —

¥ 1/ —
lor=10 mA
4.4 /' IouT I m I
LT 1
4.5 4.8 5.1 5.4 5.7 6.0
Vie (V)
2.1 S-81211SG
[ [
1.2 ! Vi=1.5V A1
-40
1. ] r—— Ny \\ ~—
Vor =° N N
v 0.9 AN
. 25
85 \\
0.8
0.7
0 2 4 6 8 10
Toyr (MA)
2.3 S-81220SG
2.0 V=4.0V |
N
. NINTIN
: | RYEAYERE
1.6 \ /
Vour 25
W 4, \
A
1.2 85
VA
. AR
0 20 40 60 80 100
loyr (MA)
2.5 S-81230SG
Viy=5-0V
3.0 ~ Iy 1
N T
2.8 \ -40 AN
26 | WA\
Vour \ L\ \
v
m ,, /\\ L
2.2 5 \
2.0 [ N T\
0 20 40 60 80 100
Toyr (MA)

2.2 S-81215SG

[ [
1.5 Vi=3.5V 1
AWAAY
1.3
\ \
Vour 1.1 \ \ 7
O 0.9 \ 25
- 4\
0.7 85
1\
s i
0 20 40 60 80 100
Loyr (MA)
2.4 S-812255G
25 Vi=4.5V |
. \\ J
2.3 N
\\ \ A
Vour 2.1 -40
25 —
1.7 \
\ [ X
1.5 \ \
0 20 40 60 80 100
Loyr (MA)
2.6 S-81235SG
3.5 Vy=5.5V |
[——
3-3 \ \
\ I\ N
3.1 ,x
Vour 25
m g \ \
) \ \
85 \ \
2.7
: \ \
2:5 0 20 40 60 80 100
Loyr (MA)

27



S-812XXSG

2.7 S-81240SG 2.8 S-81245SG
V,=6.0V V, =6.:5V
T
4.0 40 A 4.5 -0 A
\g\
3.8 \ \ 4.3 \ \25
\ 25 7
Vour 3.6 Y Vour 4.1 8 \
) \ ) A\
4 \ 3.9
3.2 ® \ 3.7
\ \
3.0 \ \ 3.5 \
0 20 40 60 80 100 0 20 40 60 80 100
loyr (MA) Toyr (MA)
2.9 S-81250SG
Vy=7.0V
[ | '
5.0 -40 A
“5\
4.8 N
\
Vour 4.6 2 ;
)] 7
4.4 85 \
4.2 \
4.0 A
0 20 40 60 80 100
Toyr (MA)
3. -
3.1 Vo 1.4V 3.2 1BV Vg 2.6V
T T
2.0 Ta=85 A+ Ta=85 A+
1.7
18 — V=10V
V=8V
Vor 1.6 | Var 1.6 V=10V
W) V6V ) AR
1.4 V=6V
) / L5 vz
1.
V=4V S N\
1. ' 1.4
0.001 0.01 0.1 1 10 100 0.001 0.01 0.1 1 10 100
lout (mA) lout (mA)
3.3 Vo 2.7V
T
3.1 Ta=85 A
V=16V
|
V=12V N
VOUT \
) 3.0
ANEAN V=10V
VsV T
9 \

0.001 0.01 0.1 1 10 100
lout (mA)

28



S-812XXSG

S-81250SG
2.0
ISS
(u A)
85
1.0 25
// -40
/A
.
0
0 2 4 6 8 10 12 14 16 18 20
Vin (V)
5.1 Vyy 1.3V
1.0
0.5
Vour %) 0 ’//—
/’
0.5 ——
/”
1.0
-40 -20 0 20 40 60 80
Ta( )
5.2 Vo 1.4V
0.5
0
{1 =
Var ) - — |
,
-0.5
-1.0
-40 -20 0 20 40 60 80

Ta ( )

~ Ta=25

~ Ta=25

29



S-812XXSG

6.
6.1 S-81211SG
(Vinitial:V,=1.5 V, 1,=0.5 mA )
Vor  1.02 - —
Vinitial i, s
1.00 ?7
0.98 f 1
TN
0.96 ' —
losr=3 A
0.94 I l! 1\ —
I loyr=5 mA
0.92 I
0.90 l

0.0 0.2 0.4 06 0.8 1.0
V,-Vinitial (V)

6.3 S-81220SG

(Vinitial:V,=4.0 V, 1,=10 mA )
Vour 1.02 T —
Vinitial logr=1 mA Ta=25
1.00 [

0.98
/ / I~ thr=1p mA
0.96
/K / I°“T|=2° rInA
0.94 T
/ ,\ lour=5 mA /
0.92 /

0.0 0.2 0.4 06 0.8 1.0
Vy-Vinitial (V)

6.5 S-81230SG
(Vinitial:V,=5.0 V, 1,;=10 mA )

Vo  1.02
Vinitial Tour

/

[
0.98 /
0.94

/ losr35 M / Tour

.0 0.2 0.4 0.6 0.8 1.0
V,=Vinitial (V)

6.7 S-81240SG

(Vinitial:V,=6.0 V, 1,=10"mA )
Vour 1.02 T ——
Vinitial V=L mA Ta=25
1.00
0.98 /<: /”

oz f
0.96 / IOOUTmA | /
" Vo= Tour= /
o 20 mA

0.94 A—5 ™
/ 16,r=30 mA

0.0 0.2 0.4 0.6 0.8 1.0
V,=Vinitial (V)

30

6.2 S-81215SG

(Vinitial:V,=3.5 V, 1,=0.5 mA )
Voyr 1.02 —
Vinitial Ta=25
1.00 —
0.98 l — —

0.96

e
0.92 I I
0.90

0.0 0.2 0.4 0.6 0.8 1.0
V,-Vinitial (V)

(
\‘I\ lar=L M
o

6.4 S-81225SG

(Vinitial:V,=4.5 V, lg=10 mA )
Vour 1.02 — —
vinitial Torzl mA Ta=25
1.00 /
0.98 / | — 1
/ loyr=10 mA lor=
0.96 / / 20 mA 7
0.94
s mh fi= |
0.92 / // 30 mA 17
0.90

0.0 0.2 0.4 0.6 0.8 1.0
Vp-Vinitial (V)
6.6 S-81235SG
(Vinitial:V,=5.5 V, 1,;=10 mA )

Voy  1.02 —
Vinitial lordL m Ta=25
1.00 /

/
INETSAN

\

0.98 /
0.96

N
N
~N
SN

0.94

0.92 / / '"

0.90 /

0.0 0.2 0.4 0.6 0.8 1.0
V,=Vinitial (V)

™

6.8 S-81245SG

(Vinitial:V,=6.5 V, 1,=10 mA )
Vo  1.02 — R
Vinitial lor=1 mA los=5 mA Ta=25
1.00
/ /
0.98 / / /,
0.9 [ o= /
10 mA /
0.94 Fio —+
20 mA /L loyr=30 1A
0.92 /
0.90

0.0 0.2 0.4 0.6 0.8 1.0
V,-Vinitial (V)



S-812XXSG

6.9 S-81250SG

(Vinitial:V,=7.0 V, 1,=10 mA

Vour 1.02 I I—l IA I
Vinitial L o0 st T | s 1825
/
0.98 ”r| //’(
0.96 %louﬁ /\
10 mA / / ~{10,=30 ma
0.94 4 <:\
0.92 ,/ 5
/ / los=20 mA
/ L1

0.90
0.0

7.1 S-81211SG

0.2 0.4 0.6 0.8 1.0
V,-Vinitial (V)

500

[
Toyr=5 mA //
400 /",’
300 /,// Toyr=3 mA ——
Vair LT _
PN s il (T3S
-1 |1
L—1
] lo,i=1 mA
100 -----_--------"""_'_-'—.—.l loyr=0.5 MA e
0 ]
50 30 10 10 30 50 70 90

7.3 S-81220SG

1.5 1 =
lOUTM
/
1.0 -~ 157=20 MA
Vi ——
) —
|ouT:10mA/’
0.5 ——
—_ losi=5 mA -
—--—-——__ﬂ—-
low=l mA
0
50 30 10 10 30 /50 70 90
Ta ( )
7.5 S-81230SG
s |
10,230 mA —
1.0
lo,r=20 mA L—
Vair // L1
w //
0.5 Tor=10 mA —
——
] lor=5 mA
. |
50 30 10 10 30 50 70 90

Ta ( )

7.2 S-81215SG

500

1or=5 mA —

400

\

300

\

Vdif
(mv) 200 "]

losr=3 mA

\

lo=1 mA

100
a1

//

——"1
16,7;=0.5 mA
|

——

0
50 30 10 1

7.4 S-81225SG

0 30 50 70 90
Ta( )

1.5

1.0

15:=30 mA

NP

\

Vdif
0] 4

1
/

1o;r=20 mA L—"
/

\

——

0.5

\

1,r=10 mA
"1 1,,=5 nA

Tosr=1 MA

7.6 S-81235SG

10 10 30 50 70 90

Ta ( )

1.5

lo

1.0

=30 mA

\

Vdif /

v -

——

105220 mA —

0.5—==

L~
L—"
=]
I

10=10 mA

.

50 30

10 10 30 50 70 90

Ta ( )

31



S-812XXSG

7.7 S-81240SG

1.5 ‘
16,r=30 mA
1.0 ouT
Vdif
()
// 107=20 MA
el l/
0.5 =1
T 107=10 mA
a— ouT -
_____.——-""'——
I los=5 mA
I
0
50 30 10 10 30 50 70 90
Ta ( )
7.9 S-81250SG
1.5
1.0
Vais = -—"‘————
16,r=30 mA
(¢
0-5 —W
—] (T TN
" | 1=5 mA
0 1 1
50 30 10 10 30 50 70 90

Ta ( )

32

VI N VOUT

GND

7.8 S-81245SG
1.5

v 1.0
N low=30 A |
m [ 4

\

A, (T
a—
1osr=10 mA -
e, 1o5=5 mA
0 r r
50 30 10 10 30 50 70 90
Ta ( )
2_ -

21



B TO-92 . YF003-A 990531
0NNy Tr—UHEER

svs oL
NS 5 = = B
(1)/\7:": (2) T — ./nmn AL mm
5.2max. 42max. 5.2max. 4.2max.
7@ | 50202 i- A 50402 i_
L
TTr
0.6max 1 H 0.6max._ d1} 2§ fi H
; i H ) ‘ \N Y 1
0.8max ! ‘ 0.8max
2.3max ‘ ! 2.3max.
|
12.7min. ! ‘ ‘ 10.0min.
04501 ‘ i ‘
0.45+0.1 | 0.45+0.1 ! ‘ ‘ . 0.45+0.1
| ‘
2571 ‘ -

1.27. T~ H%:YS003-A-P-SD—1. 0 oo EE:YFO03-A-P-SD—1. 0

0T —E itk OO JniTYEER

1.0max. 127410
| et | o2
i B 1A
I AER 2 —
7 ‘ vl A
V[ ‘ i A
24.7max Al 16.0:0.5 ! 165
045maxv #oin|| || |B#pin | 19.0£0.5
N R e RO R | Y
X . . 9.0:0.5 0.7£02
! S O ! -] |- 320
) o ‘7 o @ o - +1.0 A
6.35£04 | ‘ #0£02 18.0 o5
‘ ‘ ¢ , ]
60
\ /—L127+03(571$s205 2T : 2540£10) )
- -
! ! _ 320 |
~ a0
F—7BlEHLER
F&EAS TZAS

>©o©> O O O '

F—7BIEH L HA F—7BIEH L HA
B&E:YFO03-A—C=SD—1. 0

OT—ET )-SR (S s
1) —JL(Z1F2, 000fAA > THETY,

AmFHULEETD B E B

0 0o 0 0 O
OO

NOrrio:=c Av/

262

o
3

$79+1

i

330

F7BIEHL AR

gB58+2 53205

-

B&E: YFO03-A—Z—-8SD—1. 0

H&E:YFO03-A—R-SD—1, 0




B SOT-23-5
Oy r— TN R
2.9£0.2

| 1.9+02
‘ I

o

.

0T —E itk

40401 (BMWI0E v F :40£02)

2.0£0.05

01501 ‘1.7510.1

F-oold-df |

.5+0.0

1.¢6 2892
=l=l= '
1 2 3
1.1£0.1
[ \ 1
\ / ‘ 1.3max
0 i
095+01 | || 0~0.15
tl T
0.420.1

MPO05-A 990531

Bifsf : mm

0.1
0.16 008

T

X#E MPOOS5—-A—-P—SD—1. 0

O —EVT)—IILAER
ooreoos 1) —ILIZIE3, 000EA>TWLET,

B

|3.25¢0.15

210 "0 " 0s01 \
<—>

L AL_J

3.25+0.15)

— 7RI L IR

iSO+023maX
BRI

37 max. | 14£02
-

M%E:MPOOS—-A—-C—SD—-1. 0

HELELRE

12.5max.

HE:MPOOS5—-A—R—-SD—1. 0




SOT-89-3

Oy r— TR

0.40.1 LJ4

4.5+

0.1

1.6+

0.2

e

2.5£0.1

|

|

2 u 3 u O.EAimin
v

1.5£0.1 11.5£0.1

B . .

-

0.45

T —E itk

+0.1
8157

2.0£0.05 !

4.0+0.1 (RIEIOE v F : 40.0:02)

+0.1

UPO03-A 990531

Bifsf : mm

1.5£0.1

+
.

+0.25
4.0 -0.35

il
o

0.2

1.5£0.1

%@@@@@@%

B2

5. 65+0 05

@W

O o0 O O O O

noan
(o]

(o]

noan
(o]

F—FEM LA

M#E:UPOO3—-—A—-C—SD—1.

T J v J L _J
T2#

0

G N

i JJE

HE:UPOO3—-A—P—-SD—1. 0

O —EVT)—IILAER
1) —JLIZIE1, O00AA - TWLWET,

16.5max

— T I ——
-

'
T=

13.0£0.3

HE:UPOO3—A—-R—SD—1. 0




BY—X20H

@® TO-92

(1)

(2)

M%E:YFOO3-A-M-—-S1-—1.

: BLEE
; BkH - Ha—
P Ty MNoRRE

® SOT-23-5

(1) (2) : HMERRHF
(3) : BER
(4) EHbh—FIT

K%K :MPOOS5-A-M-81-1.

(BEECE= - 1)

812

@ SOT-89-3
O L
M U
(1) ~ 4 WS
(4) By
(5) #2ER
(6) . BUEE

H%E:UPOOB-A-M-81-1.

0

990603








